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This is a 1 order run
seokoksk sk sk ok sksk skosk ok sk skosk ok ok sk ok okok

sokeskokkok ok
INPUT:

seskkeokskokk

error in error in
year doy time radii radius angle angle datatype
1985 190 2:25:27 2.80 +/- 0.15 270.0 +/- 0.5 SMM
1985 190 3:2:27 5.00 +/- 0.15 270.0 +/- 1.0 SMM

skokeokok ok sk sk skokokskokosk skokok skokoskokskok kol skkok skeskokoskokok ok skokokok

Structure being measured:

Top of Loop [Northern Measurement]
sk sk st sk sk sk sk o sk sk sk s skosk s sk ok sk ok sk sk sk skok ok ok ki sk skoskeok skokeok

sokafok ok ok ok

OUTPUT:

skokskok ko kok

START TIME:

Event began at t = 0 + -0.248E+02 +/- 0.000E+00 [minutes]

In more convenient units:

Event began at DOY 190 1:57 +/- 0.000E+00 [minutes]

Origin defined at DOY190 2:20
RADIAL INFORMATION:
RADIAL VELOCITY = 690. +/- 0. km/sec

The computed RADIAL coefficients and errors FROM NLLST? are:
c(l) = 0.248E+01 +/- 0.617E-06 [solar radii]

c(2) = 0.595E-01 +/- 0.204E-07 [radii/min]

c(2) = 0.690E+03 +/- 0.236E-03 [km/sec]

c(3) = 0.000E+00 +/- 0.000E+00 [radii/min**2]

c(3) = 0.000E+00 +/- 0.000E+00 [km/sec**2]

ANGULAR INFORMATION:

ANGULAR VELOCITY = 0.0000E+00 +/- 0.0000E+00[radians/sec]
The computed ANGULAR coefficients and errors FROM NLLST2 are:
a(1) = 270. +/- 0. [degrees]

a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]

a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min*#2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]



THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 2:25 = 0.000E+00 km/sec
The TOTAL velocity at 2:25 = 690. km/sec

The TANGENTIAL velocity at 3: 2 = 0.000E+00 km/sec
The TOTAL velocity at 3: 2 = 690. km/sec

sk sk sk sk sk skeok sk ok sk sk skt sk ok stk ok s ok sk sk e sk skt sk skok sk stk sk sk sk skok sk ok sk sk skeok sk sk kokokek

The following info is for estimating goodness of the fit
s sk sk sk ok e sk sk koo sk ok sk sk sk skl sk sk sk s stk sk ok skok kol sk skok skokskok skok sk skok sk sk skeok ok sk sk sk skok

Number data points = number of coefficients. No error analysis is possible.

Correlation coefficient is not computable!
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This is a 1 order run
skoskoskok sk ook skokosk skosk sk kol skoskosk sk kek

seokskekokskek

INPUT:

seokokskokkk

error in error in
year doy time radii radius angle angle datatype
1985 190 2:25:27 2.50 +/-0.15 2750 +/- 0.5 SMM
1985 190 3:2:27 490 +/-0.15 275.0+/- 1.0 SMM

Seskeskeok sk ok sk sk sk sk o ko ko sk sk o skl sk sk skokskokok sk sk skekesk skok ok skok

Structure being measured:
Top of Northern Cavity

s s sk sk e sk skoske sk sk ook sk sk stk sk skt sk okl ok skokoiok
sk skokoskok ok ok

OUTPUT:

sheokskokokoskekok

START TIME:

Event began at t = 0 + -0.177E+02 +/- 0.000E+00 [minutes]

In more convenient units: ,

Event began at DOY 190 2: 4 +/- 0.000E+00 [minutes]

Origin defined at DOY190 2:20

RADIAL INFORMATION:

RADIAL VELOCITY = 752.+/- 0. km/sec

The computed RADIAL coefficients and errors FROM NLLST2 are:
c(l) = 0215E+01 +/- 0.994E-06 [solar radii]

c(2) = 0.649E-01 +/- 0.329E-07 [radii/min]

c¢(2) = 0.752E+03 +/- 0.381E-03 [km/sec]

c(3) = 0.000E+00 +/- 0.000E+00 [radii/min**2]

¢(3) = 0.000E+00 +/- 0.000E+00 [km/sec**2]

ANGULAR INFORMATION:

ANGULAR VELOCITY = 0.0000E+00 +/- 0.0000E+00[radians/sec]
The computed ANGULAR coefficients and errors FROM NLLST2 are:
a(l) = 275. +/- 0. [degrees] -

a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]

a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]



THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 2:25 = 0.000E+00 km/sec
The TOTAL velocity at 2:25 = 752, km/sec

The TANGENTIAL velocity at 3: 2 = 0.000E+00 km/sec
The TOTAL velocity at 3: 2 = 752. km/sec

sfesfe sk ok ok sk ok skeok sk sk s s sk sk sk sk sk sk sk e sk ok ok sk ko sk sk sk sk ke skokoskok skok sk sk sk sk sk skokok sk skskskok

The following info is for estimating goodness of the fit
skeskoskok sk sk sk sk sk sk ok sk sk skok sk sk sk sk ko ook sk sk skok sk sk skoskeok ok sk skoskeok sk sk sk skokosk sk kol sk sk ok sk

Number data points = number of coefficients. No error analysis is possible.

Correlation coefficient is not computable!
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skeskokok skeokok skokok kR skokok skekok ook

This is a 1 order run
sk ok e sk ok ok s sk ke sk skl sk ko ok ke sk sk sk kR

skeskokokskokok

INPUT:

sk skokok

error in error in
year doy time radii radius angle angle datatype
1985 190 2:22:33 225 +/-0.10 2450 +/- 0.5 SMM
1985 190 2:25:27 245 +/-020 2450 +/- 0.5 SMM

skeskoskosk ko skokoskok skok sk skokok skok sk skt kok skok skekok ek skl sk sk skoksk

Structure being measured:

Top of Southem Cavity
skoskoskok ok sk sk sk skok skokok skok sk skokokoiok sk skekokok skoleskok ok ok skok

s$eokskskokskokk

OUTPUT:

keokk kR ek

START TIME;:

Event began at t = 0 + -0.558E+01 +/- 0.000E+00 [minutes]

In more convenient units:

Event began at DOY 190 2: 6 +/- 0.000E+00 [minutes]

Origin defined at DOY190 2:10

RADIAL INFORMATION:

RADIAL VELOCITY = 800. +/- 0. km/sec

The computed RADIAL coefficients and errors FROM NLLST2 are:
c(l) = 0.138E+01 +/- 0.479E-05 [solar radii]

c(2)= 0.690E-01 +/- 0.363E-06 [radii/min]

c(2) = 0.800E+03 +/- 0.421E-02 [km/sec]

c(3) = 0.000E+00 +/- 0.000E+00 [radii/min**2]

c(3)= 0.000E+00 +/- 0.000E+00 [km/sec**2]

ANGULAR INFORMATION:

ANGULAR VELOCITY = 0.0000E+00 +/- 0.0000E+00[radians/sec]
The computed ANGULAR coefficients and errors FROM NLLST2 are:
a(l) = 245, +/- 0. [degrees]

a(2) = 0.000E+00 +/- 0.000E+00 [degrees/min]

a(2) = 0.000E+00 +/- 0.000E+00 [rad/sec]

a(3) = 0.000E+00 +/- 0.000E+00 [degrees/min**2]
a(3) = 0.000E+00 +/- 0.000E+00 [rad/sec**2]



THE TANGENTIAL AND TOTAL VELOCITIES AT EACH DATA POINT ARE:
The TANGENTIAL velocity at 2:22 = 0.000E+00 km/sec
The TOTAL velocity at 2:22 = 800. km/sec

The TANGENTIAL velocity at 2:25 = 0.000E+00 km/sec
The TOTAL velocity at 2:25 = 800. km/sec
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The following info is for estimating goodness of the fit
sk skok ok ok skok sk ok sk skl ok sk stk sk sk sk s s sk sk stk s sk s e sk e sk sk sk sk s s sk sk sk sk skok sk skok

Number data points = number of coefficients. No error analysis is possible.

Correlation coefficient is not computable!



